2RXS J195602.8—320717

gamm*powl

932346 0016

o0 brr e o brr e b

10-6 T ol

I
7 Y N
o o o
L | i L |
(A93 s zwd)/suojoyd
LLJLLANLI LLLLL O N N 1111 N S L1 L I N |11
R ]
| —
[
e b borrr o e b
7 ¢ ? b
o o o o
i ] — L o |

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

5.91E-01
1.33E+00

+—-
+—-

2.78E-04

+—

3
— <
s 8 o ¥ S
| | | =] |
=] = =2 w0 [£3]
RN )
= 6 o ©
(aY] - (np] | n
Il
Q
® I
S ]
) Il g
(7] § Il S
[ V. I o
wn = z — Z
TTT T ITIT[TTTT TTTT]
- —t .
NI RRRRARRRRI RRRRANNENN -

N —- o -

s[enpisay

1.00

0.10

v =5

X2req = 0.676

Energy/keV



